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MARSUPIAL MAYHEM

Figure out each of these and rule a line to the correct answer. The line will pass through
a number and a letter. Write each letter above its matching number at the bottom of
the page. Some letters appear more than once.

ANSWERS
| 6x$399 »
[ $208x7 P @ ©
[ 3xs$u97 p @ @
[ $5.99xL P O
[ 5x$398 p (13) ® ©)
[ $297x8 P O
[axsias b & O O,
[ sua7x6 P ® G) (=) (®)
[ 7x$397 p @ OO
[ $5.98x3 P (©)
[ Lxsu97 P ® @@ (i5)
[ 529ax5 P O
[ 8xs1.98 p () ® ®)
[ $597x9 P ®
| 6x37.98 P
[ su9ax7 P ®
[ 3x$699 p

| | 2 | 3 L | 5] 67 |2 5 | 8 9
0159 1|9 5 | L | 3 | 1213
b1 q | 7 10|15 9 161713
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DATING GAME

What happened on 29 April 1770?

Figure out each of these and write the answer. Then write each letter above its matching
answer at the bottom of the page.

bx $3.L9 = | 5 x $Le.48 = N
3x$7.L7 = A L x $5.47 = o)
$2LAx 7 = T $6.L8 x 8 = A
5x $7.L9 = (o) $3.L48 x 3= N
$LL7 x b = N $5Lax 7 = I
8 x $2.L7 = A L x $6.L49 = E
$8.L8 x 3 = T bx $6.L7 = A
$2.L8 x 5= (o) 8 x $L.L9 = D
$7.L8 x L = N 7 x $3.L7 = L
$2L7 x b= Y 5x $6.48 = C
$9.49 x 3 = @ Lx$1.L8= P
$LL8 x 7 = B 8 x $5.L7 = A
$5.L7 x 5 = K 3x $6L8 = D
$6.L8 x b = Y 7x$1L7= B

$32.40]$19.76| $5.92 [$17.43|$L3.76|$38.43]$29.92 $28.L7($21.88]$12.L0[$27.35
$24L.29]$51.84]$22.L0|$19.4L|$25.96|$35.92 $20.9L|$26.82

$31.36/$37.L5($25.LL|$22.L: 1 [$10.LL|$38.88 $10.29/$38.82|$ 1.+.82
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